NIRSYNANMIX ADX 140

exploded view + parts list

27 18 v 2 11 6 | 30

AirDynamiX technology s.r.o. , Kunovice 215, 75644 Czech Republic, www.airdynamix.tech



http://www.airdynamix.tech

NIRSYNANMIX ADX 140

exploded view + parts list

No. > ART NUMBER ITEM AMOUNT
1 CSA005-006 CRANKSHAFT COMPLETE 1
2 CCS015 CRANKCASE COMPLETE 1
3 BP005 BACKPLATE 1
L RVOO04 ROTARY VALVE 1
: CHOO1 CYLINDER HEAD 2
. P006 PISTON 2
7 PP002 PISTON PIN 2
: CPAOT0 PISTON PIN CIRCLIP L
g R002 (10-050-15-03) PISTON RING 2
10 HMOO4 HUB WITH MAGNET 1
11 PS002 PROPELLER SCREW 1
12 PMPOOL PROPELLER MOUNTING PLATE 1
13 CBGO0? CARBURETOR GASKET 1
14 CHGOO1 HEAD GASKET 2
15 EGOTT EXHAUST GASKET 2
16 CB002 CARBURETOR WALBRO WJT1 1

AirDynamiX technology s.r.o. , Kunovice 215, 75644 Czech Republic, www.airdynamix.tech



http://www.airdynamix.tech

NIRSYNANMIX ADX 140

exploded view + parts list

17 6002-2R5H BEARING 1
18 16003 SEARING 1
19 HK 1212 SEARING 1
20 HE 1012 PISTON PIN BEARING 2
21 CPAQS SPARK PLUG NGK CM-6 Z
22 LO06 CYLINDER 2
23 LGO13 CYLINDER GASKET 2
2L LxLx16 DIN 6885 SHAFT KEY 1
25 M4x65 DIN 912 INNER HEX SCREW -
26 M5x50 DIN 912 INNER HEX SCREW 8
21 5.5 DIN 6905 SPRING LOCK WASHER 8
28 M5x16 DIN 912 INNER HEX SCREW 12
29 M&x 14 DIN 512 INNER HEX SCREW 16
30 M10x1 150 8675 THIN NUT ?

AirDynamiX technology s.r.o. , Kunovice 215, 75644 Czech Republic, www.airdynamix.tech



http://www.airdynamix.tech

	Stránka 1
	Stránka 2
	Stránka 3

